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Ex1: Identify white powders: CaO, Na2O, MgO can be used ? 
	Answer:


Ex 2: Sulfur dioxide (SO2) is a pollutant gas, which leads to the formation of acid rain. The limit of the SO2 content of clean air regulated by the World Health Organization (WHO) is 3.10. mol SO2 in each gas. The upper limit corresponds to the SO2 concentration of ......... g / l? (Let O = 16, S = 32.06 and 1 = liter.)

	Answer:


Ex 3: People use a volume of water with 70% of lime to lime. Is this amount of water larger than the amount calculated by the equation?

	Answer:


Ex 4: Give 20 grams of mixture of CuO and Fe.sub.2 O.sub.3 to 200 ml of HCl solution. The percentage by mass of the two oxides in the mixture is?

	Answer:


Ex 5: Complete the following transformation plan:

 [image: image1.wmf]F

e

S

2

C

a

S

O

3

M

N

Q

M

Q

C

a

S

O

3


Substances M, N, Q in turn are?



	Answer:


Ex 6: Dissolve 21.6 g of a mixture of 3 metals: Zn, Fe and Cu in dilute H2SO4 solution. The reaction was completed with 3 g of insoluble solids and 6.72 liters of gas. Percentage by weight of the metals in the mixture is?

	Answer:


Ex 7: From 80 tons of pyrite containing 40% sulfur, if the production of 90 tons of sulfuric acid, the production process efficiency is?

	Answer:


Ex 8: Dip a 100g iron bar into 0.1M CuSO4 solution. After the reaction ended, the metal bar mass increased to 101.3g. The volume of 0.1M CuSO4 solution required for the above reaction is?

	Answer:


Ex 9: For 16g of iron oxide formulated with HCl solution obtained 32.5 g of anhydrous anhydrous. Chemical formula of iron oxide?

	Answer:


Ex 10: For the following salts and bases: MgSO4, NaHCO3, K2S, CuCl2, CaSO4,

Ca(OH)2, NaOH, Ca(HCO3)2. What salt and base can be used with Na2CO3 solution?

	Answer:


Ex 11: A mixture containing Fe, FeO, Fe2O3. If dissolve a gram of the above mixture with excess HCl solution, the volume of H2 is equal to 1% of the mixture volume to test. If the above mixture was removed with H2, the water content was 21.15% by weight. Determine the percentage of each substance in a gram of the mixture.
	Answer:




 ĐÁP ÁN ĐỀ THI CHỌN HỌC SINH GIỎI

MÔN: HÓA HỌC TIẾNG ANH 9 

Năm học 2017 – 2018


1. Answer: Dissolve in water and use purple knit. 

2. Answer: 1.98. 10- 7 mol 

3. Answer: 2.18 times 

4. Answer: 20% and 80% 

5. Answer: SO2, H2SO3, Na2SO3 

6. Answer: 13%, 60.19% and 26.8% 

7. Answer: 93.88% 

8. Answer: 1,625 liters 

9. Answer: Fe2O3 

10. Answer: MgSO4, CuCl2, CaSO4, Ca (HCO3)2, Ca (OH)2 

11. Answer: Suppose a = 100 grams. Let x, y, z denote the number of Fe, FeO, Fe2O3 in a grams Dissolve a mixture of the above with excess HCl solution       

                  Fe +  2 HCl   (        FeCl2 +     H2
                  x          2x                     x             x

                FeO +  2 HCl   (     FeCl2  +     H2O

                  y             2y                  y            y

                Fe2O3+  6HCl    (       2FeCl3  +     3H2O

                   z          6z                   2z           3z                                        

 with 6z 2z 3z We have 2x = 1 (*) Decrease g mixture with excess H2   

                   FeO  +   H2    
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  Fe     +   H2O

                    y            y                  y            y

                 Fe2O3  +   3 H2  
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     2Fe   +  3 H2O

                      z           3z                  2z         3z

   with 3z 2z 3z We have 18y + 54z = 21.15 (**) 
There are 56x + 72y + 160z = 100 (***) 

The word (*), (**), (***) has the system of equations:      

       2x = 1        

    18y + 54z = 21.15            

56x + 72y + 160z = 100 

Let us have x = 0.5; y = 0.5; z = 0.225   = 28%; = 36%; = 36%
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1. Đáp số: Hòa tan vào nước và dùng quỳ tím.
2. Đáp số: 1,98. 10​ -7  mol

3. Đáp số:  2,18 lần
4. Đáp số: 20% và 80%
5. Đáp số: SO2, H2SO3, Na2SO3
6. Đáp số: 13%, 60,19% và 26,8%

7. Đáp số: 93,88%
8. Đáp số: 1,625 lít

9. Đáp số: Fe2O3
10. Đáp số: MgSO4, CuCl2, CaSO4, Ca(HCO3)2, Ca(OH)2
11. Đáp số:

Giả sử a = 100 gam. Gọi x, y, z lần lượt là số mol Fe, FeO, Fe2O3 trong a gam

Hoà tan a g hỗn hợp trên bằng dung dịch HCl dư

                  Fe +  2 HCl   (        FeCl2 +     H2
                  x          2x                     x             x

                FeO +  2 HCl   (     FeCl2  +     H2O

                  y             2y                  y            y

                Fe2O3+  6HCl    (       2FeCl3  +     3H2O

                   z          6z                   2z           3z                                

Ta có 2x = 1(*)

Khử a g hỗn hợp trên bằng H2 dư 

                   FeO  +   H2    
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  Fe     +   H2O

                    y            y                  y            y

                 Fe2O3  +   3 H2  
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     2Fe   +  3 H2O

                      z           3z                  2z         3z

Ta có 18y + 54z = 21,15(**)

Lại có 56x + 72y + 160z = 100(***)

Từ (*), (**), (***) có hệ phương trình:

            2x = 1

           18y + 54z = 21,15

           56x + 72y + 160z = 100

Giải hệ PT ta có x = 0,5; y = 0,5; z = 0,225
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